Racines Variées (1)

Trouvez la racine de chaque nombre suivant.

924389 = 6859 = 42401
27000 = del4656 = 4194481
V324 - Ae76 = 17576
24389 = 3375 = 484
V16 = 1516 = 4625
125 = 9791 = Ae2s
V121 = 4707281 = 29791
4256 = #1000 = A121
J10648 = 27000 = 576
\36 = 32768 = Y2 401
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Racines Variees (I) Solutions

324 389

327 000

\V324

324 389

V16

125

V121

Y256

Trouvez la racine de chaque nombre suivant.

29 6 859 =19
30 Y614 656 =28
18 V676 =26
29 33375 =15
4 J17576 =26
5 J29791 =31
11 ¥707281 =29
4 ¥10000 =10
22 27000 =30
6 32768 =32

X2 401 =7

Y194 481 =21

J17576 =26
484 =22
Y625 =5
V625 =25
J29791 =31
V121 =11
V576 =24
V2401 =7
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